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K'— kg/m* K’ :%K
H<10m 7=0.6 H=10~15m r=0.5 H=15~20m 7 =0.4

W L

L=W- H- cota

L— 2~3m
W
b b=W
0.45 ~0. 75kg/m* 11 ~ 20m’

3. jeeeeeeseee

3 2

2 2
15 ~ 75ms e jeeerecrees

B %%%ﬁ%
a)
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20% 4 4 4

2.0.36 1 1 1 11 11
d)
4. 2-2-3-6
a b
ch Vv d
a W
0.8 1~2
25 ~50ms
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a, =16d
a,=8-~12d
W=1.33a, =21.5d
g =9d
d— cm
q— kg/m
aw d
5.
2.5~3.0m
2-2-3-7
Xl
H 10 ~20m 70°
VIl ~IX 4 ~6m m
10 ~ 60kg 100kg
6.
0.2~0.5m
2-2-3-8
15 ~ 150m°
IX V ~VII
50° 70°
1.5~2.0m 4 ~10m’
4m
7.
1
1
o <15°
55% ~98% n=1.5~2.2 80%
n=2 E =83% im’
2-2-38 80%
2 a 15° ~50°

[

2-2-3-7

5m

0.13 ~0. 3kg/m’

1.4 ~2.2kg



60% 1~1.5
1kg 60%
2
30°
45% ~85% 0.1 ~0.42kg/m®
40% 6 ~ 15m°/ 2~4
16%
3
60% ~ 80% 0.2 ~0.8kg/n’ 10 ~
20m*/ 70m*/ 6~15 5%
4
5
1
2
3
4 B,
50°
5
6

323 ’>



««eo ««eo

1
6m
6m
2-2-3-1
2-2-3-1
m m ° m
1 K1 +500 ~ K1 +600 3-~5 100 39 ~45 3000
2 K3 +700 ~ K3 +900 6~9 200 50 ~70 7000
3 K4 +100 ~ K4 +140 12 40 40 4000
2
3
@®
@
©) 2-2-3-9
2-2-3-9
@ 2-2-3-10
® 2m 30 ~ 40



Ko

2~4
15~30 65%
1.
2-2-3-11a
2-2-3-11b
2-2-3-11c

] | w
3
a) 5 b)

Ko

\LM\ N s

2~10 ® U4
IRV
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. L
3
2.2-3-12
3.
1
5-6 3~4
800
i
mmw-ggg'
2
a b
2
0.8 ~1.0m
0.7m 1/2 ~2/3
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e
%%
2-2-3-12
1.0x1.2~1.5x1.8n7
7-~9
0.6 ~0.8m 1~1.2m
40cm 70° ~
10cm
2-2-3-13

o [+
=, [ ]
b) c)
2-2-3-13
C
2/5~1/2 0.6 ~
1/2
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3m
Ix 113 ”
4.
1
3 ~20kg
500kg 1~2 3k
4
*ﬁk TARAEZG
s ——— ™ A
R == RN
= AN
| \. N & &
D N
KR R
2-2-3-14
2-2-3-14
2
1
2 2/3~1/2
3 1/3~1/2 2
4
5
6
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4
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10 ~ 20cm
2m
—
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—
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3-1-1-1

3-1-11
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3-1-1-1

lcm

Ko
3-1-1-1
18 ~20cm
5cm
2 ~3cm

~

o

E T O\ e (e |

3-1-11

ot
B B | B [ [ |

1cm
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Ko

3-1-1-2

3-1-1-2

20cm

40cm

5
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25cm



1.
2.
3
( J
100kN BZzZ—100
3-1-2-1
3-1-2-1
P kN p MPa d cm cm
BZzZ—100 100 0.7 21.3 1.5d
JrJ 014—1997 25kN i
P
JTJ012—94
80KN
P, P
1.

)



3m

80kN

XL L«
nl
n n
P
K P 4.35
N =Y C G 2) 121
= P
/
/
kN
kN
3m C=m
C,=1+1.2m-1 m
6.4 1 0.38
50kN
P, n, P N
K P 8
v=3c cn(?) 3122
= P
3m C,=1+2 m-1
18.5 1
130kN
N, = 3 oN, P,/100 3-1-2-3
i=1
/
KN 40KN
o =1 o, =1.46 x10°°p, >
/
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3-1-2-2
3-1-2-2

kN kN kN kN cm
1 CA10B 80.25 40.00 19.40 60. 85 1
2 CA15 91.35 50.00 20.97 70.38 1
3 CA30A 103. 00 46.50 29.50 2x36.75 2
4 CA50 92.90 50.00 28.70 68.20 1
5 340 78.70 36.60 22.10 56. 60 1
6 390 105. 15 60.15 35.00 70.15 1
7 EQD90 92.90 50.00 23.70 60.20 1
8 IN150 150. 60 82.60 49.00 101. 60 1
9 IN162 174.50 100. 00 59.50 115.00 1
10 JIN162A 178.50 100. 00 62.28 116.22 1
11 IN253 187.50 100. 00 55.00 2 x66.00 2
12 IN360 270.00 150. 00 50. 00 2x110.0 2
13 QD351 145.65 70.00 48.50 97.15 1
14 SX161 237.10 135.00 54. 64 2x91.25 2 135.0
15 XD160 213.00 120.00 42.60 2 x85.20 2
16 XD250 189.00 100. 00 37.80 2 x72.60 2
17 XD980 182.40 100. 00 37.10 2 x72.65 2 122.0
18 Cz361 229.00 120.00 47.60 2x90.7 2 132.0
19 SH141 80.65 43.25 25.55 55.10 1
20 SH361 280.00 150. 00 60.00 2 x110.0 2 130.0
21 351 146.00 70.00 48.70 97.30 1
22 QQB60 | 177.00 100. 00 56.00 121.00 1
23 111 186.70 102. 40 38.70 2 x74.00 2 120.0
24 111R 188. 40 102. 40 37.40 2 x75.50 2 122.0
25 111S 194.40 102. 40 38.50 2x78.20 2 122.0
26 138 211.40 120.00 51.40 2 x80.00 2 132.0
27 130S 218.40 120.00 50. 60 2 x88.90 2 132.0
28 706R 140.00 73.00 50.00 90.00 1
29 KB222 154.50 80.00 50.20 104.30 1
30 KF300D 198.75 106. 65 40.75 2 x79.00 2 127.0
31 CK20L 149.85 85.25 49.85 100. 00 1
32 CW L 40HD| 237.60 141.75 50.00 2x93.80 2
33 FP101 154.00 94.10 54.00 100. 00 1
34 FV102N 254.00 164.95 54.35 2 x100.00 2
35 682N3 140. 00 75.50 10.00 100. 00 1
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kN kN kN kN cm
36 TD50D 142.95 76.65 46.55 96. 40
37 TD50 132.20 76.65 42.20 80.00
38 H6 132.00 65. 65 45.50 86.50
39 5BR2N 92.50 50.00 24.55 67.95
40 131 68.25 35.00 18.00 50.25
41 D350 72.00 35.00 24.00 50.25
42 D420 83.00 45.00 28.20 54.80
43 D45.01 101.00 55.00 32.00 69.00
44 D750.0 160. 00 93.60 60.00 180.00
45 N8648 175.00 100. 00 55.00 120.00
46 L760 180. 00 100. 00 70.00 120.00
47 200 137.00 72.00 36.00 101. 00
Nl
N, = v N 3-1-2-4
1T &365
N,——
N,— N N N
N,
N,=N, 1+y "1 3-1-2-5
N— /
y— %
t—
t 3-1-25 N,
Ne
N, = Lty o1 X365 3126

<340
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L& Lo
N,—
n— 3-1-2-3
3-1-2-4
3-1-2-3
n 1.0 0.5 0.6~0.7 0.4~0.5 0.3~0.4
3-1-2-4
0.17~0.22
>7m 0.34-~0.39
<7m 0.54~0.62
3-1-2-5
y 7.5% t=15 N,
1.
P- 4.35
=C _t
3-1-2-2 3-1-2-5
X
N, = 1101
Ne
n=20.4
1+y '-1 x365 1+0.075 ®-1 6
N N,n = x 365 %1101 x0.4=4.2 x10
e y 1% 0.075
3-1-2-5
/ kN /
CA10B 3000 60 0.18 1 0.108 324
JIN—150 300 101.6 1.071 1 0.287 1.358 407
NJ—230 2000 30.4 0.005 1 0.005 10
SH—140 1000 55.2 0.075 1 0.017 0.092 92
138 100 160 16. 905 2 0.35%4 17.348 17.4
BJL30 200 27.2 0.003 1 0.003 0.6
K211 200 100 1 1 0.252 1.252 250

341y




032

(251

71725 z/D 2

kPa
Z
kKN/m®
0,
m
kN

3121

1/5~1/10

~

o)

3-1-2-7

3-1-2-8

a1

1)

3-1-2-1

gto,

3-1-2-9



««eo “K&«o

0.5
kN/m?
5~10
1| w7 b
% /]
|
a) b)
3-1-2-2 3122
a Z, b a
2p5 1- g
E, = 3 3-1-2-10
MPa
MPa
cm
r cm
0.35
r/é r/6=0 a=1r/56=1.5 a =0.356
E
E
E
D =30cm

s



Ko Ko
JTJ 059—1995 0~0.5mm 1mm
D 2P 2 -1-2-
£, =1000- 72> S 14 31211
E— MPa
j— 0.35
D—— 30cm
p— MPa
L— P, 0.01mm
Ll
E, =1000- ZLE 1- 12 o 3-1-2-12
1
p— MPa
5—o cm
L— 0.01lmm
— 0.712
2.
1
80cm W, 2112 2113
2111 2112
2
2113
21-1-1
3
3126
15% ~ 30%
MPa 3-1-2-6
We 0.8 0.9 1 1.05 1.1 1.15 1.2 1.3 1.4 1.7 2
19 22 25 26.5 28 29.5 31
1
" 18.5 22.5 27 29 31.5 33.5
19.5 22.5 26 28 29.5 31.5 33.5
1
? 20 24.5 29 31.5 34 36.5

Lo




««eo ««eo

0.8 0.9 1 1.05 1.1 1.15 1.2 1.3 1.4 1.7 2
1P 19 22.5 26 27.5 29.5 31

21 23.5 26 27.5 29 30 31.5 34.5 37 45.5
I35 23.5 27.5 32 34.5 36.5 39 41.5

22.5 27 32 34.5 37 40

23.5 30 35.5 39 42 45.5 50.5 57 65
e 24.5 31.5 39 43 47 51.5 56 66

29 32.5 36 37.5 39 41 42.5 46 49.5 59 69
Isg 26.5 32 38.5 42.5 45 48.5 52

27 34.5 42.5 46.5 51 56
sga 33.5 37.5 42.5 44.5 46.5 49
log 27 36.5 48 54 61 68.5 76.5

35 28 41.5 43 44.5 46 47.5 50.5 53.5 62 70
I, 27 31.5 36.5 39 41.5 44 46.5 52 57.5

27 32.5 38.5 42 45 48.5 51.5 59
11PN 37 40 43 44.5 46 47.5 49 52 54.5 62.5 70

36 39 42.5 44 45.5 47 48.5 51.5 54.5 63 71
I3 26 39 34.5 36.5 38.5 41 46 47.5 52

26.5 32 37 40 43 46 49 55
11, 25 34 45 51.5 58.5 66 74
1V, 21.5 25.5 30 32.5 35 37.5 40.5

E E2
3.
3
4.
E, CBR
Eo ~ Lo Eo
~CBR E,
[ J
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K&eo K&eo
2
20
20
15
3-1-2-7 3-1-2-8
3-1-2-7
E MPa o MPa
7:13:80 1300 ~ 1700 0.6~0.8
8:17:75 1300 ~ 1700 0.5~0.8
5% ~ 6% 1300 ~ 1700 0.4~0.6
5% ~ 6% 1300 ~ 1700 0.4~0.6
6:3:16:75 1200 ~ 1600 0.4~0.6
5:3:92 1000 ~ 1400 0.35~0.5
60% 700 ~ 1100 0.3~0.4
40% ~50% 600 ~ 900 0.25-~0.35
4:3:25:68 800 ~ 1200 0.3~0.4
10: 30: 60 600 ~ 900 0.2~0.3
8% ~12% 400 ~ 700 0.2~0.25
4% ~7% 200 ~ 350
300 ~ 350
250 ~ 300
200 ~ 250
200 ~ 280
180 ~ 220
150 ~ 200
80 ~ 100
3-1-2-8
E, MPa
15  MPa
20 15
d90 1200 ~1600 | 1800 ~ 2200 1.2~1.6
d90 1000 ~1400 | 1600 ~ 2000 0.8~1.2
d90 800 ~1200 | 1200 ~ 1600 0.6~1.0
d90 800 ~1200 | 1200 ~ 1600 0.6~1.0
— 600 ~ 800 — —
— 400 ~ 600 400 ~ 600 —
100
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3
28d
3-1-29 90d 90d
28d 1.1
3-1-2-9
E, =1.44f,>*° x10'MPa 3-1-2-13
fem MPa
3-1-2-9
fen MPa 5.0 5.0 4.5 4.0
E. x10°MPa 30 30 28 27
1
100kN
2
1/5~1/10
3
4 E,
5
F‘<,ﬁ<,ﬁ<,ﬁ~4<_~4/¢4ﬂ§

Do popn oy J

1))



N o oMb

o

n=0.36 t=15

BZZ—100
y=10% A =1.1 A,=1.0 A =1.1

N

135



1/2
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8 ~20cm
6 ~10cm 9 ~14cm

15%
18 ~26
15% ~ 18%

20%

< 350

15cm

8% ~12%



0.8

40 ~70 80 mm

10 ~12cm

0.425mm
0.075mm

“K&«o

10 ~16cm
Il
25 ~50mm 30 ~60mm
5 ~10mm
3 ~5mm
10cm
0.5mm
0. 05mm
0.002mm

1))



4. 75mm 0.6mm 0.075mm
8 ~16cm
0.6 0.4
°
3

1 9.5mm
2 26.5mm
3 37.5mm

< 352

16cm

2.36mm
19mm
31.5mm

90%
90%
90%
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15 ~25mm

Yo

Ca OH ,

S0,

15~20
5%
0.8%

Ca0 +MgO

8% ~14%

Al,O,

12

10%

9% ~16%

3% ~4%

CaCo,



4%

-5~-3

90d

1%

)



17

< 356

pH
Ca+ +

Ca OH

Ca++

12

Ca OH ,

25%
Ca'” K" Na*

SO, AlLO,

20%

4% ~ 8%

0.25%



20%

15cm

16 ~20cm

6h
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35%

2
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12 ~20 10%

SO, Al,O, Fe,0, Ca0

20%
0. 001 ~ 0. 3mm 0.01 ~0.1mm

15cm

0.8%

70%

16 ~20cm



1.
2.
3.
4,
5.
° °
s |4
3-1-4-1 HUHHH
h1 hz hi hn-l El Ez Ei En-l h et
M Mo M Mn-1 E. pa By B, u;
E, u,
1 3-1-4-1



0.7

0.6

««eo

K«e
3-1-4-4  3-1-45

3-1-4-3

3-1-4-2

_ = .
i = &5
| R
T - S N
71 = © Y B I
9 . <0~ B
| R = — I =y
NN oy b i
I noa K
AR % Lo N ®
R wE w5 =
g = ok
T
It
1.0
|18 s 2 st 0 W
)1 -
1 e b -
0.9 %= M :
= * . W
= 0.8 - = 1
- {4 44
1 3 3 e
e 22 mE e = 2 g ]
= 5 0.7 = T
sE=re = = = i
T - - T P 1]
G EESS Z 6 Tl -] = H
e = U.0 = 5
By =2 2 e T BRI
- . 2% G -t
—— - - i) " >
Ces =it L 0.5 CF Hﬂ\ﬁmx AP 1
i = o I S TM.\ - T /1 7 . y
m3cgss z ET o e T e
-+ = g Ene AT 7 ((ygumn
= . = ——— -—— = U4 et e 5 A7) 7 1
A 11 - =3 = o R . A% R 2t
T e o = = = 9 I Py 7 1 s 7 jiia
i i mE = =, 8% ’ {
a3 ™ = = = 0.3 ” \v\ y v
HEra e B ENEa Eor L e xwr\_, 7) 3 f e
e EmNEe s CusSeaEa aane s e BN,
F = ey 0.2 7 4 y
FeE T L Tt soa: BgS /
e - - - f {4 1
R —— W= H.\ L EE T P ‘7 14 ]
= % = bt oL 0.1 / ara -
=+ ey - R NP A \ 7 RS EREE
] p -t | 3+ 1 ot otk .\.\I\\q. » 'd
= 11 |- e Zape 1=110.05 v 7
; EagEssEis 7] 26557 T
F AR g e W T papd .
S s = 10.02 v » e
f -+ }+ L+t r 41
LTt - e, = TS
2 ] o = EE3 A 001 O awomv\,aae TN
s e 1 n = H v O.IXT.O. (3]
i+ 3 L =
] R P T St
= == A T T
E = = T et A T T
3 P f 3t Pt
pap S H O s NI s "
s i e ] 8] 1 i
|URRRNRREN RSN 1 31 1 Il
3] == ™~ ) <+ %) ~ —

0.4 0.5

0.3

3-1-42

0.1

CEL



X
0.1 02 I0.3 04 05 0607 08 09 1.0 1.2 1.4|11|.6|1.8 2.0|2.|2|2.|4 |2.|6 I2.8 3.0 32 55
6.07 i T 6.0 ‘<—l<_:|
W 5.0 \ 350 <20, | 29
J 40F J40h & P
3.0 43.0
20F L1 320 h B uy=025 s
1.8F L[ 11.8 funs r o ERTYOHE:
1.6 L | | 1
14F 3¢ L= 2‘;5 2K K,
121 = s T o " =4+4d12 1
. LoF = E Il & 3 3 215 311
z 082 S E,J08
F 0.6 H0.6
. 8‘21— 104
H ; 0.2
Il | [ [T ITTd AT
= H K
H H 02 0304 05 06 07 0+§ 09 10 2 15 gﬁO 2.5
A [ Kl ™
] f . \ ) ] , / / —
1 [ \ o
i i oL ——-NE/E \ AL ol 7T
- N X ,_:OOOQ‘Q'Q T
| | u -4 X - { L OLE)/E,
H [ _*2— et
T H T NE/E, , NN ‘
L [ EyE, N Wi
[ 1 S
. : T SN
] : Y h/|6| I /'f‘\
H1 H 5 = WS L /RN
i R ERER EY 7R\ - Al
H \ o
i B/ ] S
i 5 =
NS
AL 2\_
& Yo /8 I8 e |
SASYSG = 0-5\—
| 7] | |
5/ | N ||
| | CT 1T 7 71 1o |I |I : - :’ | J |I |I |I L
== 05 1 152 3 4 5 6 7 8 9 10
0205 1 2 3 s 4 5 6 "

3-14-3




08 10 12 14 18 20 22
T ] T 1.0' T T ) T
09
o }
0.7 ~
EJE, & & $ 06 1501
' 04—
021
0.1
?.05
EJE
é.? A 2'~1
\ S ofha
Q.Q T = ;S
> N./Ncs_ ' { /7
Mo . -
005 11
3.0p ,
7 [| 005 EJE,
25F \
- \ W
- i |
2.0F B 1
s \ . |
- -
2 i T
1.5F : -
- - BEERTERERE
- 3 o EJE,
1.0F -
0.5F I

m

Hé

E,IE,

E,JE, _”‘2A_0 )
EyE; ’
. 0.2
P

06 08

0.05
EJE,| 0]

0.2

7

09 1.0

17
025< — <075 &
NN

J1

1.5 B

—

0

0.5

1'Oh/ 4

15 20

2

3

ws 4

6

B- RIS
ETAT AN fC kW

o=Pomm,

3-1-4-4




1.3 | 1.42: 54
ny T ”, 1401 24 24
12 1\_5//3— C ARARMR R LA
: C P-4 p
/GHIJ C
C o E, 1#,=025
] 1.30[ . c
] - pu-4
H C #,4=035
] 6 125 z
|| 4 -
R 3 B C- B AHES
- - 1.20H Bipi AR
N 15 - o=Paonmn,
— 1.I.I.I.I.I.I.I.I.I.I 1'15__
0102 04 06 08 10
0.05 E,/E,
- R
] 0 ; 1.0 L . 25
|| I'I'I'I'I'I'I'I'I“I'I'I'I'I'I'I'I'I'I'I'I'I'I'I'I'I

N =TT
ANEy/ 55

|
E,IE,

[ TTTTLTT I

EE N ERE

I ]

— I~

s : N

— —)

] | > -
L0 | P I — P —
T T N T ST e L T T T e S S St~ It i
1 P 3 mg 4 5 6 0 1 2 3 4h/55 6 7 8 9 10

3-1-4-5




K&eo
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100kN



«K&eo «K&eo
600
Ly :WAcAsAb
Li— 0.01mm
5.4m
N,—
A— 1.0
A— 1.0
1.1 1.2
Ab__
15cm
1.0
1.6
1 20cm
10.9 x 10°
1.0 1.0 —
1.0
L, =%ACASAb =600 x 10.9 x10°
(o =%
o— MPa
O MPa
90d MPa
180d MPa
K.—
N0.22
K,=0.09A, ——
A A
Aa_

1.1

3-1-4-4
3.6m
1.1 1.2
1.3
20cm A =1.0
15cm

20 cm

%2 %1.0%1.0%x1.0=23.48 0.01mm

3-1-4-5

15

3-1-4-6

1.0
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K, =0.09A,-

N.™ _0.09x1.0x 10.9 x10° *% _

0.22

=3.18

A 1.0

op_ 1.4 _
K. =3 18 =0. 4403MPa

g, =

1.0

3-1-4-7

3-1-4-8

1. 4AMPa
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3-1-4-1
3-1-4-1
/
15 >400
12 >200
10 100 ~ 200
8 10 ~ 100
5
<10
5
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2,
1.
3-1-4-2
3-1-4-3
0.3
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K&eo K&eo
3-1-4-2
cm cm
5.0 6~8
4.0 4-6
2.5 2.5~4
1.5 1.5~2.5
1.0 1.0~1.5
4.0 4-8
6.0 6~10
1.0 1~3 2~4
15.0 16 ~20
15.0 16 ~20
15.0 16 ~20
8 10~15
8 10~15
10 10 ~12
3-1-4-3
cm cm
12~18 2.4
10 ~15 1-2.5
5-~10

3-1-4-4
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«K&eo Lo
cm 3-1-4-4
cm
50 ~ 100 40 ~ 45 35~40 30 ~35 45 ~ 50 40 ~ 45 30 ~40
100 ~ 150 45 ~ 50 40 ~ 45 35~40 50 ~60 45 ~ 50 40 ~ 45
150 ~ 200 50 ~60 45 ~ 55 40 ~ 50 60 ~70 50 ~60 45 ~ 50
200 60 ~70 55 ~ 65 50 ~55 70 ~75 60 ~ 70 50 ~ 65
60 ~ 100 45 ~ 55 40 ~ 50 35~45 50 ~ 60 45 ~ 55 40 ~ 50
100 ~ 150 55 ~60 50 ~55 45 ~ 50 60 ~70 55 ~65 50 ~60
150 ~ 200 60 ~ 70 55 ~ 65 50 ~55 70 ~ 80 65 ~70 60 ~ 65
200 70 ~80 65 ~ 75 55 ~70 80 ~ 100 70 ~90 65 ~ 80
©) 0.5 I v 15% ~20%
@ 1 5% ~10%
3.
[ ] [ J
1.
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3-1-4-2 3-1-4-3
3-1-4-6
_ 2p5
L, =1000 x P, 3-1-4-9
EO
L— 0.01lmm
p 6—— MPa cm
E,— MPa
E,—— MPa
a— h/s E,/E,
3-1-4-2
3-1-4-7
2] = 2]
p
S A— I S
A iy < Ey 4y
{ 154 By, 54 & Ey 4,
Eg, uy Ey g
3-1-4-6 3-1-4-7
L, =1000 szﬁaL 3-1-4-10
1
L— 0.01mm
p 6—— MPa cm
E, E,— MPa
o — h/s E,IE, E,IE,
3-1-4-3
1 p=0.7MPa § = 10. 65cm E, = 1000MPa E, = 500MPa E, = 30MPa

h=10cm H=25cm

h_ 10 _ B, _30 _ E, 500 _ B )
5-10.68 "% E “500 0% £ 100005 31-4-3 «=8.6 K, =0.89
K, =0.92

a, =a- KK, =8.6x0.89 x0.92 =7.042

L, =1000 x <2, 1000

2Ep5aL =1000 x220:7x10.65 . 5 445 — 104. 99 0.01mm
1
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2.
3-1-4-8
L. =1000- 2Py F 31-4-11
EO
L 0.38 E 0.36
F=1. s = 3-1-4-12
63(20005) ( p)
L— 0.01mm
po— MPa cm
F—
e ML EE B L
e e (6 5 5 E E E) °
MPaE, E, E,, MPa h, h, h,
cm
J | J | J_| Jd | dJ
[TT14[TTIT11” r
hl El
2 = ()
e I
E=E,
3-1-4-8
3-1-4-9

-
N}
&

3-1-4-9

< 372



Ko Ko
E C
Om 3-1-4-13
on=pon, 3-1-4-13
_ h, h h E, E E
=f[* 2 ni 22 = n 3-1-4-14
m"\s 5 & BE E,
p— MPa
T 3-1-4-4 3-1-4-5
1.
E, E, hy E,h, 3-1-
4-10
2 2
l, galu Ib_galb
I, =1, Qg =0y E, h,
E', h',
2 n-1
2
3-1-4-11
d i J d i
HHT & BHIE
hy E;
EO
d s d e By o Ey
P hy, By H,E,
HUE 5 5 .
hy By hy By
E} E
3-1-4-10 3-1-4-11
Ly 2
— —k 1-4-
H=h, +k§3hk E, 3-1-4-15
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2.
1
hl El
3-1-4-12 i b ’ B
i E
h h; E, =
i 4 E,
h= kzlhk [k 3-1-4-16 Biy E, H Ein
i+1 n-1 E .. . i £
H
Eﬂ
L, oe E,
H= Y h, 3-1-4-17 3-1-4-12 [
k=i+1 Ei +1
3-1-4-13 3-1-4-17 H
2
n-1 H=h, , 3-1-4-14
n-2 E,..,
n"sh, | 3-1-4-18
TE K E,.., —
Iy By h E, y E,
by E, by E,
E, h Es
»
by By E, oy E
Aoy E Pt E_, H=h,, E
E, E, E,
3-1-4-13 3-1-4-14
3-1-4-15
1
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4
L, Ly L. =L,
L, = L4

5

Om
g, Oon<=0,
6
2
10% v, 1.00
3-1-4-5
3-1-45
kN kN /d
T653B 29.3 48.0 1 — 300
JIN163 58.6 114.0 1 — 400
HF150 45.1 101.5 1 — 400
SP9200 31.3 78.0 3 >3m 300
HQP40 23.1 73.2 2 >3m 400
EQL55 26.5 56.7 2 3m 400
1.
100kN
1
1
K P 4.35
N = IlelCzni (F)
3-1-4-6
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3-1-4-6
« p. \4%
I
P, kN c c no/d .§1C1C2”i( 3 )
/d
29.3 1 6.4 300 9.2
T653B
48.0 1 1 300 12.3
58.6 1 6.4 400 250.4
JIN163
114.0 1 1 400 707.3
45.1 1 6.4 400 80.2
HF150
101.5 1 1 400 426.8
31.3 1 6.4 300 12.3
SP9200
78.0 3 1 300 305.4
HQP40 73.2 2 1 400 205.9
26.5 1 6.4 400 7.9
EQL55
56.7 2.2 1 400 74.6
K p. 4%
N=,ZC1Czni(—') 2092.3
i=1 P
25kN
2
15 0.4~0.5
0.45
1+y '- 1| %365 1+0.1 ® - 1| x365x2092.3 x0.45
N, = [ 1+y '-1] N,z = | | =10918940
v 0.1
2
1
K pP.\8
N =3C,C,n[—
igl 1 20 P
3-1-4-7
3-1-4-7
Kn Pi\°
P, kN c, c, n Id i§1clcz”i(?)
/d
58.6 1 1.85 400 10.3
JIN163
114.0 1 1 400 1141.0
HF150 101.5 1 1 400 450. 6
SP9200 78.0 3 1 300 123.3
HQP40 73.2 2 1 400 65.9
EQL55 56.7 3 1 400 12.8
ke [P
N :‘glclczni(?) 1803.9
50kN
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2
15 0.45
t 15
N = | 14y '-1] ><365N177 _ 1 1+0.1 ®-1[x365x1803.9%0.45 _ ¢, 2007
y 0.1
2.
1000
15cm 25cm
4cm

5cm 6cm

3.
20
20 1400MPa
1200MPa 1000MPa 1500MPa
550MPa 1. 4MPa
1.0MPa 0. 8MPa 0.5MPa 0. 225MPa
4,
VA 1.00

MPa ” 40MPa
5.
1

3-1-4-4 1.0
1.0 20 cm
1.0
_ 600 _ S0.2 _
Ly —WA:ASAb =600 x 10918940 x1.0x1.0x1.0=23.47 0.01mm

2

K, =0.09A,
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_0s_1.4 _
o= K, ~3 18 =0. 4403MPa

0.22

N 0.22
K,=0.00A, "% _0.09 x1. olx (1)0918940
_0s _1.0

g, KS BT:OSMSMPa

=3.18

Ne” _0.09 x1.1 x10918940° %

A, 1.0 =3.50

K, =0. 09A, -

o

.8

35 =0. 2286MPa

0-9'
a-r =-—=
KS

(@}

N2™  0.35 x9413887°

A 10 =2.05

K.=0.35

_0s_0.5 _
o, = K. =2 05 05—0.2439MPa

=2.63

K —0.45 N _0.45 x 9413887
TUTA 1.0
o5 _0.225

[ =K m=0.0856MPa

23.47 0.01mm 3-1-4-8
3-1-4-8

h cm 20 MPa MPa

4 1400 0. 4403

5 1200 0.3145

6 1000 0.2286

25 1500 0.2439

— 550 0. 0856
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24.5 cm
23.40 0.01mm
8.
0. 1223MPa
0. 2439MPa 0.075 MPa 0. 0856MPa
[ ] ([ ]
1.
1
2
3
4 3-1-4-16
2.
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ly= 1, +2.S KKK, 3-1-4-22
lo— 0.01lmm
K, K,— 3-1-4-9 3-1-4-10
Ky—
K, 3-1-49
Kl
1.0 1.2~1.4 | 1.1~1.2 [1.05~1.15
1.0 1.5~1.6 | 1.3~1.4 | 1.2~1.3
| 1.0 1.8~1.9 | 1.7~1.8 | 1.6~1.7
' 1.0 1.2~1.3 | 1.1~1.2 [1.05~1.15
1.0 1.3~1.4 | 1.2~1.3 | 1.1~1.2
1.0 1.5~1.6 | 1.3~1.4 | 1.2~1.3
1.0 1.55 ~1.65
e 1.0 1.25 4.5
1.0 1.5~1.65 5
1.0 1.4~1.5 ~7
2 1.0 1.3 ° -~
7
1.0 1.54 9
1.0 1.3~1.4 | 1.2~1.3 | 1.1~1.2 1
1.0 1.5~1.6 | 1.4~1.5 | 1.3~1.4
1.0 1.9~2.0 | 1.8~1.9 | 1.6~1.7
= 1.0 1.2~1.3 | 1.1~1.2 [1.05~1.15
1.0 1.4~1.5 | 1.3~1.4 | 1.2~1.3
1.0 1.8~1.9 | 1.7~1.8 | 1.5~1.6
1.0 1.3~1.4 | 1.2~1.3 | 1.1~1.2
1.0 1.2~1.3 | 1.1~1.2 [1.05~1.15
s 1.0 1.3~1.4 | 1.2~1.3 | 1.15~1.2
1.0 1.7~1.8 | 1.6~1.7 | 1.5~1.6
14
20 5cm
20£2
K
T=20 K, ='(7-m) 3-1-4-23
T<20 K, =g 2T 3-1-4-24
Ky—

383



LK&«e K«e
K, 3-1-4-10
1.00 1.00~1.10
1, 1.10~1.20 1.10 ~1.30
1.20 ~1.40 1.35~1.50
1.00 ~1.10 1.10~1.15
I, 1.10 ~1.30 1.15~1.35
1.30 ~1.50 1.35~1.55
1.00 ~1.15 1.10 ~1.20
Iy 1.15~1.35 1.20 ~1.40
1.35~1.55 1.40 ~1.60
1.00 ~1.10 1.10 ~1.20
Vi,
1.10~1.20 1.20~1.30
Vi,
1.20 ~1.40 1.30 ~1.50
1.00 ~1.20 1.10~1.25
Vi, 1.20 ~1.40 1.25 ~1.50
1.40 ~1.60 1.50 ~1.70
1.00 ~1.10 1.10 ~1.20
vil, 1.10 ~1.20 1.20~1.30
1.20~1.30 1.30 ~1.40
T—
T=a+bl,
a— a= - 2.65+0.52h
b—— b=0.62 - 0.008h
T— 5h
h—— cm




3-1-4-26

El
E, =1000 2|¥"53m1m2
0
MPa
0.01mm
MPa
ml
m =1.1
m, = & 037(E”—p'1)0'25%
MPa
En.1
hl _n lh Ei 0.25
- i=1 I ( En- 1)
MPa
cm
n-1

cm

m,=1.0

3-1-4-25

3-1-4-26

3-1-4-27
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5 b
g‘/vﬂ/vﬂ/vb/vh/vh'vbys
1.
2.
3.
4,
5.
6.
7.
8.
9.
10. 3-1-4-11
7.5% t=15
3-1-4-11
CA10B JIN—150 NJ—230 SH—140 138 BJL30 K211
3000 300 2000 1000 100 200 200
11. 25cm
Bzz—100 200 /d 10%
5
12. h=24cn p=0.7MPa d=21.30cm E, =50MPa E, =200MPa
13. 3-1-4-12 0.052cm
3-1-4-12
h cm 20 MPa MPa
6.5 1200 1.0
10 800 —
— 400 0.50
25 140 —
— 22 —
14. 3-1-4-13 h,
H
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15.

««eo ««eo
3-1-4-13
h cm 20 MPa MPa
4 1000 0.8
10 700 —
20 500 0.65
15 300 0.225
_ 30 —
BZZ—100 20

2.152.29 2.22 2.15 2.31 2.29 2.05 2.24 2.09 2.31 2.24 2.05 2.18 2.16 2.18 2. 24

2.16 2.05 2.17 2.08

lo

K,=1.1 K,=1.3 K, =1 Z,=2
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400 ~ 500t 250t

0.2m

m

28d

1000m

20 ~40
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3-1-5-1

25 ~40 x10°MPa

3-1-5-1

Ko

0. 05MPa

3-1-5-1

389 ’>



««eo Ko

3-1-5-2
3-1-5-2
mm mm
120 ~ 200 150 ~ 200
150 ~ 250 100 ~ 140
40 ~ 60 80 ~ 100
80 ~ 100
300mm 500mm
650mm
0.5m
3-1-5-3
3-1-5-3
m 3-1-5-3
m
0.50~1.00 | 1.01~1.50 | 1.51~2.00 >2.00
0.30~0.50 | 0.40~0.60 | 0.50~0.70 |0.60~0.95
0.40~0.60 | 0.50~0.70 | 0.60~0.85 |0.70~1.10
0.40~0.60 | 0.50~0.70 | 0.60~0.90 |0.75~1.20
0.45~0.70 | 0.55~0.80 | 0.70~1.00 |0.80~1.30
)
&) 0.50m
1 1% ~2%
1% ~2%
2
50 ~100m
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150mm
1%~2% .
0.6~1.0m Jlr
60~100cm
3-1-5-2
3-1-5-4
3-1-5-4
=260 =250 =240 270 ~ 240 | 260 ~230 250 ~ 220
240 ~210 230 ~ 200 220~200 | <230 <220
3m 3mm
5mm
0.6mm
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3-1-5-3a
3-1-5-3b
st =
[ V ] 3%
AN
a) b) c)
3-1-5-3
a b ¢
3-1-5-3

3-1-5-3c

(YIS

3-1-5-4

20mm 3-15-5

< 392



Lo

=50 |
BB HE 2
BRHE -
< T
a / i i
/
7 T
* 100mm KI/PNETB 30 i
30mm é’;ﬁriﬁ/ugﬂq% "I ‘ R 612~16
3155 o
3-1-5-6a
3-1-5-6b
. J
= lipilas
a) <
ol 3
pity ] 3
LR J
b)
3-15-6 o
a b
1/5~1/4 3 - 8mm
20mm 6 ~10mm 3-1-5.7
3-1-5-8a
3-1-5-8b
3-1-5-5
150 ~ 250mm

303)))



««eo ««eo

hi2

hi2

/N
B
< “7
KT

3-1-5-7 mm
-~
2l— =
S 3
g B AL

|

w2 |
F
o
=y

a) =
S ]
itz T *
S HIFF T ;
S 5T
Q g
= 1:4 fF
—’I 1/10h

3-1-5-8 mm
a b
mm 3-1-5-5
mm

200 28 400 300
240 30 400 300
260 32 450 300
280 35 450 300
300 38 500 300




LK&e K«e
4
4 ~6m
2.
3~8
g
HaEk g‘
g $uF —
2 72 gi| 5
o
30 ~ 40mm 3 ~8mm = ]
3-1-5-9a ‘ 100 ‘
4.5m a) =
3-8 @
= 3
Biic o g
1/3 g HfF T
2/5 3-1-5-9b 42 [ 1 Z
o
= LS
s
b)
3159 mm
b
im a
100mm
3-1-5-6
100mm
mm 3-1-5-6
m
mm 3.00 3.50 3.75 4.50 6.00 7.50
200 ~ 250 14 x700 x900 | 14 x700 x800 | 14 x700 x700 | 14 x700 x600 | 14 x700 x500 | 14 x700 x 400
260 ~ 300 16 x800 x900 | 16 x800 x800 | 16 x800 x700 | 16 x800 x600 | 16 x800 x500 | 16 x800 x 400
X X
3.0~4.5m
3.
90°
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2~3
1 HEMGETE &6 EBANA
gt
2 12~ % —xX
16mm 1/4 OI [
50mm 100mm ET AN
3-1-5-10 —s0 100 2612-16
&6 TR
| sof—t00 | =
/ 9 =
45
A
2
3-1-5-10 mm
2 12 ~16mm
50mm 100mm 3-1-5-11
5cm 10cm
5~7cm
o $12~14 | 1200 |
K>2x1200=2 400| a ‘
—1 \
G
| 1200 T | $12~14
| |£’<>2 x 1200=2 400
3-1-5-11 mm
6 ~10 20%

< 396



Lo

L&eo
70° 70° ~45° 45° 3 3-1-5-12
5m 10m
Yt s Hilsis B
‘ >
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[ S E
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ST

b)

WA WiAEAR BB
2
[T T 2
E R R S S
wm
°)
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a a>70° b 45° <q<70° c «a<45°
3m
200mm
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25mm 700mm 400mm
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[_=1000_|
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kg
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K& K«e
1
3-1-5-14 34.5MPa 20. 7MPa
2
- 8.164
£
% 7624
o
5.08
254
0 7 14 21 28 35 2
HURRE (MPa)
3-15-14
15cm x 15em x 15cm
15cm 30cm
10% ~ 15% 15cm x 15cm x 15cm
20cm x 20cm x 20cm 5% 10cm x 10cm x 10cm 5%
7.5cm x 15cm 8% 5cm x10cm 6%

x10cm x 40cm

90d

15%

15cm x 15cm x 15cm 10cm
0.85
15% ~20%
28d
90d 28d 1.15

3-1-5-7
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3-1-5-7
MPa 5.0 5.0 4.5 4.0
MPa 6.0 6.0 5.5 5.0
3
10cm  15cm
4
15cm x 15¢cm x 15cm
2.
b
g
/
/
/
/
/
3. — /
_ /
/
. o Y | &, M &
I e
5 — 2 3-15-15

3-1-5-15
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b

50% ~ 60%

h
b/8 ~ b/5
3
82
u z=0 =V z=0 :0
dx dy h
3z=0 3M, 3M, =0

DV*V’w=p- q

3-1-5-16

3-1-5-1
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3-1-5-16
VZ —i Lz
X oy
_ EN
12 1-42
. p{x, )
W T e *
q(x, y) w (x y)
3-1-5-17
o _ FEZ (a w, 9 w)
grx 1- 2\ o e ay?
E&T _ E.Z ( 0 W) 3-1-5-2
o) 1-ploy e e
0 EZ 2w
%Xy_ 1 +u 90Xy
Fw, o ow
=-D c
M ( i ayz)
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15%
3-1-5-8
3-1-5-8
a 30 30 20 20
% 95 90 85 80
1.64 1.28 1.04 0.84
3-1-5-9

c, 3-1-59
¢, <0.10 0.10<¢,<0.15 0.15<¢,<0.20
¢, <0.25 0.25<¢,<0.35 0.35<¢,<0.55
¢, <0.04 0.04 <¢,<0.06 0.06 <¢,<0.08
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L« L&
3-1-5-10
3-1-5-10
%

95 90 85 80
1.20~1.33 1.09 ~1.16 1.04 ~1.08 —
1.33~1.50 1.16 ~1.23 1.08~1.13 1.04 ~1.07

— 1.23~1.33 1.13~1.18 1.07~1.11

Y, oy +o, <f, 3-1-5-6
y— 3-1-59
O — MPa
Ty—— MPa
f— MPa
100kN —
20—
3-1-5-19
2
— 3-1-5-7
3-1-5-19
n P, \*
N, = %8N, ( ﬁ) 3-1-5-7
8 =2.22 x10°P, %% 3-1-5-8
8 =1.07 x10°°p, % 3-1-59
8, =2.24x10°°p,"*% 3-1-5-10
N,——100kN —
P— — — —
n—-
N,—
85— 8 =1 — 3-1-5-8
3-1-5-10
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3.
4 3-1-5-11
3-1-5-11
>2000 100 ~ 2000 3-~100 <3
4,
1
ADTT
0.5
3-1-5-12
3-15-12
1 2 3 =4
1.0 0.8~1.0 0.6~0.8 0.5-~0.75
1000 2 6 3
10kN 20kN
3-1-5-11
Pi- 16
K, =5, ( 106) 3-1-5-11

Ko j——

|—

j—

P; i kN
8—i — 3157
3-1-5-12
_ADTT
NS_lOOOiZn‘jz K, i X P 3-1-5-12

N,—
n— 1000 2 6 i
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p—i J
2 N,
3-1-
5-13
Ngx 1+g, -1 x365
N, = n 3-1-5-13
g9
N, ——
N—
t—
9—
g
n— 3-1-5-13
3-1-5-13
0.17 ~0.22
7m 0.34~0.39
7m 0.54 ~0.62
P, 3-1-5-14
o =K KK.o s 3-1-5-14
O~ ps MPa
Ops—— P, MPa 3-1-5-15
k,—— k., =0.87 ~0.92
k. =1.0 k,=0.76 ~0.84
K— 3-1-5-19
k.—
3-1-5-14
K, 3-1-5-14
K. 1.30 1.25 1.20 1.10




LK&eo L&
Py
s =0.077r%%h "2 3-1-5-15
1
E\3
r=0. 537h(—°) 3-1-5-16
E.
Ops™ Ps MPa
r m 3-1-5-16
h— m
E.— MPa 3-1-5-15
E— MPa
3-1-5-15
MPa 1.0 1.5 2.0 2.5 3.0
MPa 5.0 7.7 11.0 14.9 19.3
GPa 10 15 18 21 23
MPa 3.5 4.0 4.5 5.0 5.5
MPa 24.2 29.7 35.8 41.8 48.4
GPa 25 27 29 31 33
1 E, 3-1-5-17
E.\3
E, =ah’E, ( —*) 3-1-5-17
E,
hE, + K E
= 2 3-1-5-17a
h? +h?
1
12D\
h, = ( ) 3-1-5-17b
EX
Elhi +E2hg h, +h, 2 1\7°?
= + =1-5-
D, R (Elhl Ezhz) 3-1-5-17¢
E -0.45
a=6. 22[ 1-1. 51(EX) ] 3-1-5-17d
0
E -0.55
b=1-1. 44( J) 3-1-5-17e
E,
E— MPa
E,— MPa 3-1-5-16
E— MPa 3-1-5-17

0o



««eo Ko

MPa 3-1-5-16
I I v Y, VI
26 ~42 40 ~50 39 ~50 35 ~60 50 ~ 60
25 ~ 45 30 ~ 40 25 ~ 45 30 ~45 30 ~45
22 ~ 46 3254 30 ~50 27 ~43 30 ~45
3-1-5-17
MPa MPa
80 ~ 100 1300 ~ 1700
150 ~ 200 1300 ~ 1700
180 ~ 220 20 600 ~ 800
200 ~ 250 20 800 ~ 1200
250 ~ 350 20 1000 ~ 1400
200 ~ 700 9.5% ~11% 1300 ~ 1700
600 ~ 900 20
600 ~ 800
2.5% ~3.5%
E, E,— MPa
h,— m
D— MN- m
h, h,— m
E
E
3-1-5-17a 3-1-5-17e
2
3-1-5-18
E, =1. 373%, 104 3-1-5-18
Wy,—— 100kN
0.01mm
ki
k. =N, 3-1-5-19
—
N.——
v— v=0.057




L« ««eo
v=0. 065 % 3-1-5-19a
ly
v=0.053 - 0.017p; d—f 3-1-5-19a
P %
[(— mm
d— mm
1
oy =Ko 3-1-5-20
oy— MPa
Om— MPa
k——
k[
f, O\ ®
k=] a( ) - ] 3-1-5-20a
Tim f,
ab c 3-1-5-18
ab c 3-1-5-18
I 1 v % v Vil
a 0.828 0.855 0.841 0.871 0.837 0.834
b 0.041 0.041 0.058 0.071 0.038 0.052
c 1.323 1.355 1.323 1.287 1.382 1.270
2
_a.EhT,
Om =" 5 By 3-1-5-21
Ty MPa
a—— 1/ 1x10°°/
T,— 3-1-5-19
B,— I/r h
3-1-5-20
[— m
T, 3-1-5-19
nv n IV VI Vil
/m 83~ 88 90 ~95 86 ~ 92 93-~98
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11~

1.0r !

09}

0.8

0.7

0.6}

0.5F

0.4}

0.3
2

3-1-5-20 B

10mm 3-1-5-21

11
9m

3-1-5-8 20
0.39 5%

N ooNeX 1+g ‘-1 x365 2000x 1+0.05 ®-1 x365
e” g, n= 0.05

3-1-5-8
3-1-5-4 0.22m
5% 0.20m 0.15m
4.5m 5.0m

Q=

x0.39 =

2000

3-1-5-13
3-1-5-13

9.414 x10°



Lo ««eo

—————— aBSs —— 258 | [ ABAARM|—

THEAE
e || spein it BERET,
l ,—f M ( T
[emss | —= nosm
= it “
) B | [ msLR
=l i | | ok
R J Gm | ES:
RIS -
{ V| [wress
wemon || || [oemd ) [ag ask||| R
HESk ] |H AR | | e | | e s
W o,
] ;
BRI | || [fikhh K| || R
FEBAHT 7177 HBH 03 RE, B o,
LES ‘ ‘
BRI
M @
Yk, Ve(opt o)
3-1-5-21
3157 5.0MPa 31515
31GPa
3-1-5-16 35MPa 3-1-5-17
600MPa 1300MPa
3-1-5-17
£ _ME +ME, 1300 x0.20° +600 x0.15° _ 100 110,
R +h 0.20° +0.15°
_E.h} +Eh; , hoth 2( 1,1 )'1
x 12 4 \Eh, Eh,
_1300 x0.18° +600 x0.15° . 0.18+0.15 2( 1 L1 )'1
12 4 1300 x0.20 ~ 600 x0. 15

=3.08 MN- m

h, = /12D, /E, = /12 x3.08/1048 =0.328 m

a3y
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-0.45
a= 622[1 151(E) ] =6.22x[1-1.51 x (1238) ]:4.186
E>< '0~55_ 1048 -0.55_
b—1-1.44(E0) _1-1.44x(§) =0.778

1

1
- L
E :ahi’Eo(E—x) =4.186 x0. 328%™ x 35 x (1048) " =101 MPa

, 35
3-1-5-16

w|=

1
31000\ _
on ) ~0.636 m

r=0. 537h(E°) =0.537 x0.22 x(

t

3-1-5-15
0 =0.077r*®h"? =0.077 x0.636>° x0.22°? =1.213 MPa
k. =0.87
k. =Nl = 9.414 x10° *®" =2, 497

3-1-5-14 k. =1.20

3-1-5-14
ox =KKkKo s =0.87 x2.497 x1.20 x1.213=3.16 MPa

3-1-5-19 11 95 /m 5m I/r=5/0.636 =7. 86
3-1-5-20 h=0.22m B, =0.71 3-1-5-21

E.HT -
o= ep, 21220 31000 X0.22X95 . 71 25 23 Wpa

K, 3-1-5-20a

Uftm[a(o;tm) b] =2 23[0 855 x (25_203)1'355 - 0.041] =0.550

3-1-5-20

k.=

oy =Koy, =0.550 x2.23=1.23 MPa
3-158

85% 3-1-5-10
y,=1.13

3-1-5-6

Yo o to, =1.13x 3.16+1.23 =4.96MPa<f =5.0MPa
0.22m

< 414



LKe K«e
°
m2
V- L h f
= = 1 3-1-5-22
2 x10%,
V— KN/m?
h
f— 1.5
o — MPa
L_
m
2 3-1-5-20
24
1/3~1/2
0.1m
3-1-5-20
; 10 m 0.30 0.75
0.15 0.35
13 ~22m 30m

ush)



1.0~3.0m
0.6% 0.7%
1/3~1/2
30
85% ~90%
3

1.

2.

1~2cm

< 416

0.2 ~0.5mm

0.6% ~0.8%
0.1m

1/5~1/10

0.23m

0.5m

0.4~0.5

Im



12cm

4MPa
1.5% ~2.0%
25 ~60mm 0.25~1.25mm
50 ~70
30% ~ 50% 15 ~ 30m
60MPa 350 ~
380kg/m’ 0.35 8 ~16mm 0.03n7?
6cm
20mm

417 ’>



40mm

1
2
3
3
4
’Yr a-pl' +0—t|’ sfr
100kN —
n P\
N, = o ()
22N 100
4
Nyx[ 1+g, '-1] x365
N, = Y]
oh
5
1
PS
O-pr = krkfkca-ps
2
Oy = kto'tm



9Im

No oM

2200
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20 ~25m

10 ~ 15m

0.3 ~0.5m

25
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7
8
9
10
1
3-2-2-1
15~20 10
15
12 ~20
2
50mm
40mm
60% 10% 5 10
3-2-2-1
3-2-2-2
3-2-2-1
50 100
40 100 100
30 100 90 ~ 100
20 90 ~ 100 75 ~90 55 ~100
10 60 ~ 80 50 ~70 40 ~ 100
mm 5 30~50 30 ~55 30 ~55 50 ~ 100
% 2 15~30 15~35 18 ~ 68
1 10 ~55
0.5 10~20 10~20 6 ~45 15 ~ 100
0.075 0-~7 0~7 0~30 0~50
% <25 <40
<6 <17

< 428



«K&eo Lo
3-2-2-2
mm <30 <40 <40
40 100 100
30 100 90 ~ 100 90 ~ 100
20 90 ~ 100 60 ~ 85 60 ~85
10 40 ~65 50 ~ 70 50 ~ 70
mm 5 55 ~ 80 40 ~ 60 40 ~ 60
% 2 28 ~50 27 ~47 27 ~ 47
1 20 ~40 20 ~40 20 ~40
0.5 10-~20 10-~30 10~30
0.07 0-15 0-15 0-15
3
30% 35%
40%
4
0.25% 2%
0.8% 10%
2
1
6h 32.5 42.5
2
3
SO, A1,0, Fe,O, 70% 20%
2500cnt /g
0.001 ~0.3mm 35%

2




K&eo K&eo
4
SO, AL0, 700 ~ 100kg/n?
30mm
3
1.
3-2-2-3
3-2-2-3
50 100
40 100 85 ~ 100 100
30 90 ~ 100 100 65 ~ 85 80 ~ 100
20 75~90 85 ~ 100 42 ~67 56 ~ 87
mm 10 50 ~70 60 ~ 80 20 ~ 40 30 ~60
% 5 30 ~55 30 ~50 10 ~27 18 ~ 46
2 15~35 15~ 30 8-~20 10 ~33
0.5 10 ~20 10 ~20 5~18 5~20
0.075 4109 2-8@ 0-~15 0-15
% <28
<6 <90
% <30 <30 <40 <40
% <20
(1] 6 9
(2] 0.075mm
26%
30% 35%
40%
0. 5mm
600 mm
120 100

< 430




«o

2.
3-2-2-4
6
3-2-2-4

50 100 100

40 80 ~ 100 90 ~ 100 100

30 90 ~ 100 100
20 65 ~ 85 75 ~90 85 ~ 100

mm
% 10 40 ~ 100 45 ~70 50 ~70 60 ~ 80
(4

5 25 ~85 30 ~55 30~55 30 ~55
2 15~35 15~35 15 ~30

0.5 8 ~45 10 ~20 10 ~20 10 ~20

0.075 0~15 4~10 4-~10 2~8
% <28
<90
mm <50 <40
% <20
o 9
30%
35% 40%
3.
3-2-2-5
30%

a1y




K&eo K&eo
3-2-25
40 ~ 80 30 ~60 25 ~50 10
80 100
60 25 ~60 100
50 100
40 0~15 25 ~50 35~70
30 0~15
mm 25 0~5 0~15
% 20 0~5
10 0~5 100
5 85 ~ 100
2 60 ~80
0.5 30 ~50
0.075 0~10
<6
% <15
[ ] [
1.
2.

< 432




3-2-2-1

««eo ««eo
Y
' N
| Bl | e
| o | TiE
M T 25 | 22 | —wom | #
| £ | kR | AR | TikE | ®
&
|t | [mimee | [ame | oo | L=
! TR S ! "
| T
| mmasmpsosean R R o
, I
BT AL
M = =
WA
3-2-2-1
20m 10 ~15m
1-2

)



Ko Ko

1~2
24h
4
12t
3-2-2-6 10cm
3-2-2-7
3-2-2-6
t cm cm
12 ~15 15
18~20 20 10

% 3-2-2-7
95 95 93

98 96 97 95
95 95 93
96 97 97
95 97 93

98 96 97 95

2 ~3h
5
7d

3d



1d

7d

-3~-5

5cm

)



2 {3 ”
5~8m
3
200m
1.
— —
— —
1.35
1-~2

12t

< 436

1.4~1.5

1.25 ~



60%

96%

40%

6~8
1.5~1.7km/h
96%
—
— —
—>
83%

&&eo
1/2
2.0 ~2.5km/h 2~
98%
98% CBR
CBR 60%
— — —
—>
85%
[
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Ko

Ko

3-2-2-8
3-2-2-8
2000n?
2000n?
6 -1.00%
93%
6 95%
BY%
/20007 97%
9%
2000n? - 1%
2000n?
6
9 13
93%
6 95%
B%
/2000n? 7%
98%

< 438




Lo Lo
98%
2000n7 6 9696
95% 97. 7%
1km
40 ~50
3
1km
3-2-2-9
3-2-2-10
3-2-29

mm 200m 4 +5 -10 +5 -15
mm 200m 4 +0 +0

% 200m 4 +0.3 +0.5

-8 - 10
mm 200m 1
-15 -20

mm 200m 2 10 10 15
mm 200m 4 +5 - 15 +5 -20
mm 400m 4 +0 +0

% 200m 4 +0.3 +0.5

- 10 - 12
mm 200m 1
-25 -30
mm 200m 2 10 15 20

430y
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3-2-2-10
98% 97% 94% 93%
200m6 ~ 10
96% 95% 92% 91%
2-~3
3~6 -1.0%
200m6 ~ 10 93% 95% 89% 90%
-1.0%
% 3~6
-2.0%
98% 93%
200m6 ~ 10
83% 91%
2-~3
40 ~50
85% 82%
20016 ~ 10
83% 80%
40 ~50
200m ~ 10 96% 91%
40 ~50
K S K,
= T S
K, =K-t, 1. o5 3-2-2-1
- n N
t,—t
95% 90%
n—
Ki—
I, =1+zs 3-2-2-2
l—
—
S_
z— z=2.0 zZ =
1.645
1+ 2~3 s
K, Ky 3-2-2-1




P wnbdrE

aa1 )



" o o <

50

20

Yoo



mm  0.074mm

0.5mm

2.

10%
3.
5
1.0~1.5cm
4 ~8cm
3 ~4cm 7 ~10cm

6%
6%

1.5 ~3.0cm
1.5~2.5cm

2.5~3.0cm

0.5

10%

3cm

23
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SMA

3-2-3-1
3-2-3-1
/ /
15 >400
12 <200
10 100 ~ 200
8 10 ~ 100
5
<10
5
5
6% 3%

Y
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3-2-3-2
3-2-3-2
AH—90 AH—110 | AH—90 AH—110
A—140 A—140
AH—130
A—180 A—180
A—100 A—100
A—100 AH—90 AH—110 | AH—70 AH—90
A—140
A—140
A—180
A—180 A—100 A—60 A—100
A—60 A—60 AH—50 AH—70 | AH—50 AH—70
A—100 A—100 AH—90
A—140 A—140 A—100 A—60 A—60 A—100
@ - 10 25 215d
® 0-~10 25 215 ~270d
® 0 25 270d
@A— AH——

245 )
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0.075mm 2%
2% ~3%
3 15% 20% ~30%
3 4
50% 5mm
0% ~40%
5mm
30% ~40%
1% ~
2%
3-2-3-3
3-2-3-3

% 28 30
% 30 40
% 2.50 2.45
% 2.0 3.0

4 3
% 12 —
% 15 20

0.075mm % 1 1
% 5 5
BPN 42

% 28
%

20 40

50 40

— 40

Qs



K«e K«e
2.36mm
3-2-3-4
3-2-34
mm mm
9.5 10 100 100 100
4.75 5 90 ~ 100 90 ~ 100 90 ~ 100
2.36 2.5 65 ~95 75 ~ 100 85 ~ 100
1.18 1.2 35~65 50 ~90 75 ~ 100
0.6 0.6 15 ~29 30 ~59 60 ~ 84
0.3 0.3 5~20 8~30 15 ~ 45
0.15 0.15 0~10 0~10 0~10
0.075 0.075 0~5 0~5 0~5
M, 3.7-~3.1 3.0~2.3 2.2~1.6
3-2-3-5
2%
3-2-35
t/m? 2.50 2.45
% 1 1
0.6mm % 100 100
0.15mm % 90 ~ 100 90 ~ 100
0.075mm % 75 ~ 100 70 ~ 100
<1
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°
15
2.0 ~2.5cm
2.5~3.0cm
2
3-2-3-6
S12 5 ~10mm
3-2-3-2
15% ~ 20% 3-2-3-2
1
2
3
4
5
6
7
8
9
10

4

_a
5

Lo
[ ]
3cm
1.0 ~1.5cm
70% ~ 80%
20%
S14 3 ~5mm 2 ~3m®/1000n?
3-2-3-6
3-2-3-6
3-2-3-6
3-2-3-7



Ko Ko

3-2-3-6
m? /1000n7? kg/n?
cm
1.0 S12 7~9 1.0~1.2 1.0~1.2
1.5 S0 | 12-~14 1.4~1.6 1.4-~1.6
1.0 Sl2 |10~12| Sl4 | 5~7 1.2~1.4/0.8~1.0 2.0~2.4
1.5 SI0 |[12~14| SI2 7-~8 14~1.6/1.0~12 2.4-~2.8
2.0 P [16~18| SI2 7-~8 1.6~1.8/1.0~1.2 2.6~3.0
2.5 8 [18~20| S12 7-~8 1.8~2.0/1.0~1.2 2.8-~3.2
2.5 P [18~20| SI1 | 9~11 | SI4 5~7 [1.6~1.8/1.1~1.3/0.8~1.0{3.5~4.1
S8 [18~20| S0 |12~14| SI2 7~8 |1.6~1.8{1.2~1.4|1.0~1.2|3.8~4.4
$ [20~22| S0 |12~14| SI2 7~8 [1.8~2.0[1.2~1.4|1.0~1.2{4.0~4.6
0.5 Sl4 | 7~9 0.9~1.0 0.9~1.0
1.0 SI2 | 9~11 | Sl4 | 4~6 1.8~2.0/1.0~1.2 2.8-~3.2
S12 4-6
3.0 $ [20~22| S0 | 9-~11 2.0~2.2|1.8~2.0/1.0~1.2|4.8~5.4
Sl4 |3.5~45
©) 5% ~20%
@ 60%
® 5% ~10%
3-2-3-7
PC—1 PC—2 PC—3 BC—1 BC—2 BC—3
PA—1 PA—2 PA—3 BA—1 BA—2 BA—3
% 0.3
+ -
Css s 12-~25 8~20 12 ~ 100 40 ~ 100
Ey 3~15 1~6 3~40 15 ~ 40
% 60 50 55 60

a9y
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PC—1 | Pc—2 | Pc—3 | BC—1 | BC—2 | BC—3
PA—1 | PA—2 | PA—3 | BA—1 | BA—2 | BA—3
100g 25 5s 0.1mm 80~200 | 80~300 | 60~160 | 60 ~200 | 60~300 | 80 ~200
25 % 80
% 97.5
5d %
1d %
2/3
1181 % — 5
-5
@ Cr 5 25 3mm Ey 25
©) 5d 1d
3PC PA BC BA
@ BA—3 55%
1
2
130 ~
170 80 ~120
60

Yoo



5cm

3-2-3-8

© 00 N O 0ok~ WDN PP

e
N wDMN RO

3 ~4cm

4 ~8cm

15

7 ~10cm

2km/h

20km/h
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K&eo Lo
3-2-3-8
m® /1000n? kg/n?
cm 4 5 6

S12 5~6 S12 Sl1 7~9 S12 Sl1 7~9
1.4~1.6 1.6~1.8 1.6~1.8

SI0 12~14 3 16 ~18 8 57 16 ~18
2.0~2.3 2.6~2.8 3.2~3.4

53 45 ~50 57 55 ~60 53 66 ~ 76

3.4~3.9 4.2~4.6 4.8~5.2
cm 7 4 5

Si4 4~6
1.3~1.5

Sl4 4~6 S12 8~10
1.4~1.6 1.4~1.6

S10 S11 8~10 S12 9-~10 D 8~12
1.7~1.9 1.8~2.0 1.5~1.7

$ 3 18~20 3 15~17 53 24 ~ 26
4.0~4.2 2.5~2.7 2.4~2.6

3 80 ~90 57 50 ~ 55 57 50 ~ 55

57~6.1 5.9~6.2 6.7~7.2

® e e

< 452

15% ~20%

60%
5% ~10%




0 N O O~ WN BE

20 ~ 30

3-2-3-1 3-2-3-2

3-2-3-3
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45 AN A 118 S N
3-2-3-1
-8
Y /
(D/
6 . L T
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3-2-3-2
1 2 3 4 5 6- 7 8 9 10

R
BFR

T
<
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g W WL S THE Fil RN

o [mhE TR | o8 .
| FHL W R
5% | et | Vi |
B 3
B
3-2-3-3
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4 ~8h
AL S -12
0.8 ~1.0kg/n?

T4 5
" 0.5 ~0.8kg/n?
1. 0kg/m?

3 ~8mm

min
min

T-1
1.0 ~ 1. 2kg/n?

0.7 ~0.9kg/n?
5m?® /1000m?

1.25~1.50

3-2-39

AL M -1 2

AL M -345
0.4 ~ 0. 6kg/
0.8 ~

1.20~1.45

s



LK«e K«e
3-2-39
AH—50
AH—110 AH—130 —5
AH—T70 T—8
A—100 A—140 A—200 —6
AH—90 T—9
A—180 T—7
A—60
150 ~ 170 140 ~ 160 130 ~ 150 100 ~ 130 80 ~120
15
0~20
8
5~10
140 ~ 165 125 ~ 160 120 ~ 150 90 ~ 120 80 ~110
10
10
120 ~ 150 20
110 ~ 130 165 80 120
120 ~ 140 175 100 140
110 ~ 140 110 80 ~110 75
120 ~ 150 110 90 ~ 120 85
70 50
80 60
65 50
®
@
® 30
2
3-2-3-4
3-2-3-5
3
3-2-3-9
10cm
3 6 ~ 8t 1.5~

Yose



««eo ««eo

2.0km/h 2 10 ~ 12t
4~6 3km/h 5km/h

6 ~ 8t 3km/h

3-2-3-4
1 2 3 4 5 6 7- 8 9 10 11
12-
1/2 30cm
2% ~3%
2 AL B SRR

3-2-35
1 2 3 4 5- 6 7 8
1 6 ~ 8t
8~12t 12 ~15t
3 12 ~20t 20 ~25t
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15cm

3-2-3-10 3-2-3-11

Yaso

«K«eo

20 ~30cm

1 ~3km

30%

3 ~5cm

10 ~ 15cm

3-2-3-12



K&eo K&eo
3-2-3-10
1~2 /d
1~2 /d
1
3m
1/
1/
+204 +20% 0.075mm 2.36
1 mm 4. 75mm
<0.075mm +6% +7%
2 /d 5
<2.36mm +7% +8%
=4.75mm 9.6mm
13.2mm
1
+0.3% +0.5%
/d
1
/d
2000m 1
0,
1 1 96% 96%
99% 99%
1 /d

450 )



K& K&eo
3-2-3-11
2000n?1 - 5mm
10mm 3m
+30mm
+0.5%
2000n?1 -8% -5mm
8mm 3m
+30mm
+0.5%
-8% - 5mm
2000n?1 - 8mm
- 4mm
2000n?1 - 4mm
3m
3mm 5mm
5mm 7mm
+2cm +2cm
+15mm +20mm
+0.3% +0.5%
3-2-3-12
1kmb - 8mm -5mm - 8%
1kmb - 15mm -10mm - 15%
1knmb -4mm - 10%
1knmb - 10%
1.8mm 2.5mm 3m
1kmil0 10 5mm 3m
1knm20 2cm +3mm
1km20
1km20 +15mm +20mm

< 460
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Ko

1knm20

+0.3%

+0.5%

1kml

+0.3%

+0.5%

1kmi

1kmb

95% 98%

94% 98%

20mb

5ml

1kmb

1kmb

a61p)



Yoo

«K«eo

20 ~30cm



3-2-3-6

— — [OOOoOooOd
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OoOoOoOoOmmd

3-2-3-6

A N ™MW
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[ J
6
R
3-2-4-1
3-2-4-1
d 3 28 3 28 3 28
MPa 25.5 57.5 22.0 52.5 16.0 42.5
MPa 4.5 7.5 4.0 7.0 3.5 6.5

Yeor




Ko

9.7% 42.5
3-2-4-2
3-2-4-2
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